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Ostwcolours (9 steps) with_*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) withL*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) with_*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) withL*(Ch) g in L*ABIND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

CIELAB ligthness L*

white W
L*(Ch) g w=95, 0, 0&100

rgb*w=1, 1, 1 . 9steps L*(Ch) o r=67, 64,34
| b rgb*g=1, 0,0
red R
9 steps
black N
L*(Ch) ag =0, 0, 0
rgb*\=0,0,0 ¢ 100
0 L*ABJND-chromatic value Gg

Tristimulus values of black and whitég=0,0, Y,,=88,6

CIELAB ligthness L*

white W
L*(Ch) ag w=95, 0, ogloog steps
rgb*w=1, 1, 1 T yellow Y
: / rgb*y=1,1,0
9 steps L*(Ch) ap,y=88, 71,92
black N

L*(Ch) ag =0, 0, 0 9 steps
rgb*=0,0,0 ¢ 100

0 L*ABJND-chromatic value Gg

Tristimulus values of black and whitéy=0,0, Y{4=88,6
Tristimulus values of black and whitéy,=40,3 Yyn=88,6, Yxs=88,6.

CIELAB ligthness L*

white Wy,
L*(Ch) g wn=95, O, @100 L*(Ch) pg r=67, 64,34
rgb* =1, 1, 1 .9 steps L*(Ch) o rn=82, 35,34
= rgb*gn=1, 0, 0
red R,
9 steps
black Np
L*(Ch) ag nn=69, O, O
1gb*=0,0,0 o 10
0 L*ABJND-chromatic value Gyg

Tristimulus values of black and whitég=0,0, Y,=88,6
Tristimulus values of black and whitéy,=40,3 Yywn=88,6, Yva=88,6.

CIELAB ligthness L*

white W,
L*(Ch) ag,wn=95, 0,
b wn=1, 1,1 yellow Y,
rgb*y,=1,1, 0
9 steps L*(Ch) ag,yn=91, 39,92
L¥(Ch) o y=88, 7192
black Np

L*(Ch) ag,nn=69, O, O
rgb*y=0.0,0 ¢ 100

0 L*ABJND-chromatic value Gg

AEK30-3N

AEK30-4N

AEK31-3N

AEK31-4N

Ostwcolours (9 steps) with_*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) withL*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) with.*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) withL*(Ch) pg in L*ABIND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

CIELAB ligthness L*

Tristimulus values of black and whitég=0,0, Y,y=88,6

CIELAB ligthness L*

Tristimulus values of black and whitéy=0,0, Y{4=88,6
Tristimulus values of black and whitéy,=40,3 Yy,=88,6, Xx2=88,6.

CIELAB ligthness L*

Tristimulus values of black and whitég=0,0, Y,y=88,6
Tristimulus values of black and whitégy,=40,3 Yyyn=88,6, ¥ya=88,6.

CIELAB ligthness L*

white W white W white Wy, white W,
= 100 = 100 = 100 =
L*((fh)_ABVW 95,0,04100 5 s L*((*:h)_ABYW 95, 0, 0$~ 9 steps L*(Sh)ﬁB,Wn 95, 0, 0 9 steps L*((fh)A_B’W" 95, 0,
rgb*y=1,1,1 ——— rgb*y=1,1,1 ~eg rgb*ywn=1, 1,1 1 €z 2 rgb*wn=1,1, 1
| | B °) LY
|
9 steps rgSIeEgGl 0 9 steps cyan C 9 steps rggieeﬂ 0G11 0 9 steps cyan G,
GV 4 rgb*c=0, 1, 1 Gn=Y: 4 rgb*cy=0, 1, 1
L*(Ch, =80, 100152 = L*(Ch] =87, 54,152 —.
black N Chasc black N L*(Ch) ag,c=T77, 64,214 black Ny L*Ecr\iii'ii 0, 100,152 black Nn L(Ch) ag,cn=86, 35,214
L¥*Ch) A =0, 0, 0 9 steps 100 L*(Ch) A n=0, 0, 0 100 L¥(Ch) o nn=69, 0, O oo ST L¥(Ch) ag =69, 0, O Llégh)AB'c_W’ 64214
rgb*\=0, 0, 0 0 ; rgh*\=0, 0, 0 ; rgb*y,=0, 0, 0 0 ; rgb*\n=0, 0, 0 0 ;
0 L*ABJIND-chromatic value Gg L*ABJIND-chromatic value Gg 0 L*ABJIND-chromatic value Gg 0 L*ABJIND-chromatic value Gg
AEK30-5N AEK30-6N AEK31-5N AEK31-6N

Ostwcolours (9 steps) with.*(Ch) pg in L*ABIJND-colour space

Ostwcolours (9 steps) with.*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) with-*(Ch) pg in L*ABIJND-colour space

Ostwcolours (9 steps) with.*(Ch) pg in L*ABIND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

CIELAB ligthness L*

white W
L*(Ch) o w=95, O, 0&100

rgb*y=1,1,1 < 9 steps
LN

L*(Ch) ap g=46, 71272
rgh*g=0, 0, 1

9 steps
blue B

black N
L*(Ch)ag =0, 0,0
rgb*\=0, 0, 0 0

9 steps 190

L*ABJND-chromatic value Gyg

Tristimulus values of black and whité;=0,0, Y,y=88,6

CIELAB ligthness L*

white W
L*(Ch) ag w=95, O, 0&00

rgb*w=1,1, 1 ~32 Sl?ps L*(Ch) pg =62, 100332
i~

| rgb*y=1,0, 1
| ta M
9 steps magenta
black N
L*(Ch)agn=0, 0,0 9 steps
rgb*y=0,0,0 @ P 100
0 L*ABJND-chromatic value Gg

Tristimulus values of black and whitéy=0,0, Y{4=88,6
Tristimulus values of black and whitéy,=40,3 Ywn=88,6, ¥xs=88,6.

CIELAB ligthness L*

white Wy,
L*(Ch) oB.wn=95, O, @100
rgb*wn=1,1, 1 oS steps L*(Ch) ag g=46, 71,272
By L*(Ch) agn=75, 39,272
9 steps rgb*g,=0, 0, 1
blue B,
black Ny
L*(Ch) g nn=69, 0, O
rgb*,=0,0,0 ¢ 100
0 L*ABJND-chromatic value Gyg

Tristimulus values of black and whité;=0,0, Y,y=88,6
Tristimulus values of black and whitéy,=40,3 Yiwn=88,6, Yya=88,6.

CIELAB ligthness L*

white W,
L*(Ch) agwn=95, O, %100 L*(Ch) g m=62, 100332

rgb*wn=1, 1, 1 o Sedsteps L*(Ch) ag vn=80, 54,332
““ rgb*\n=1, 0, 1|
o 1t
9 steps o4 magenta M,
%o
black Ny, %o
L(CMagn=69, 0.0 © @G gians 100
rgb*\n=0, 0, 0 0 ;
0 L*ABJND-chromatic value Gg

AEK30-7N

AEK30-8N

TUB-test chart AEK3:; Affine colour metric for six device hues

AEK31-7N

input: rgb/cmy0 (No 1MR)

AEK31-8N
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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1
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Ostwdatargb*, XYZxy, and L*ABCh g in L*ABIND-colour space Ostwdatargb*, XYZxy, and L*ABCh g in L*ABIND-colour space Ostwdatargb*, XYZxy, and L*ABCh g in L*ABIND-colour space Ostwdatargb*, XYZxy, and L*ABCh g in L*ABIND-colour space
Tristimulus values of black and whitéy=0,0, Y{4=88,6 Tristimulus values of black and whité=0,0, Yi=88,6 Tristimulus values of black and whitéy,=40,3 Yn=88,6 Ys=88,6. Tristimulus values of black and whité=40,3 Ywn=88,6, Yyz=88,6.
L*ABCh g data B L*ABCh g data
CIEXYZ data L*ABCh 5 data rgby L Ay By GagaMasa CIEXYZ data L*ABCh 5 data rgby Ly Ay By GagaMasa =

bt X Yo & X Ve |Lv A By Ged Msd| |[Ry10067 52 36 64 34 100 rgbt Xy Yo & oxg g |Ly A By Ged Msd| |[Rg10082 28 19 35 34 C
ke [100 (5528 36,99 067 0594 0397 67,26 52,93 3637 64,22 (Y; éiggg :ggg iéo?éz ke [100 (6844 60,47 4426 0594 0397 8209 2884 19,82 350 (Y; éig?; :‘1‘823 gi 222 v )
Vg [110(67,93 7265 1,12 0479 0512 88,28 -2,93 7161 71,62 Co 01177 -52 -36 64 214 Y4 [110(7534 79,90 4451 0479 0512 9164 -160 39,03 39,6 Co 01186 28 1935 214 —
Gy [010|21,11 57,87 13,29 0,228 0,627 80,66 -89,15 4566 100158 | [B, 00146 2 -7171 272 Gy |010|49.82 71,85 51,14 0,228 0,627 87,89 -48,58 24,89 54882 | [B, 00175 1 -3939 272 D
Cy [011 (28,91 51,60 9579 0,163 0,292 77,04 -52,96 -36,36 64,244 | [My10162 89 -45 100332 Cy [011 (54,07 68,43 96,10 0,163 0,292 8622 -28,86 -19,81 3514 | [My10180 48 -24 54 332 «Q
By |001|1626 1593 9534 0,127 0,124 46,89 293 -71,61 71,@r2 | [N¢0000O 0 0 0 0 By |001|47,18 49,00 95,86 0,127 0,124 7545 159 -39,02 39,a92 | [N¢000690 0 0 0O a
Mg [101 [6308 3071 8317 0356 0,178 62,26 8912 -4566 100882 | [Wal11950 0 0 0 -150 Mg [101 72,69 57,05 89,23 0356 0,178 80,21 4856 -24,88 54,982 | [Wal11950 0 0 0 -150 100 =
Ng (000 [000 000 000 0333 0333 008 000 000 0,000 Ny [000 (3832 4032 4390 0,333 0333 69,70 -0,01 000 00D Q
W, [111 (84,21 88,60 9648 0312 0,329 9541 000 000 0,00 A = 250 K/ Xogs— ¥ | Yogs]  [16] W, [111 (84,21 88,60 9648 0312 0,329 9541 000 000 0,00 A= 250 X/ Xpss Y / Yogs]  [1b] (=4
N1,[0,00 [0,00 0,00 000 0333 0,33 008 000 000 0,000 B =100 ¥/ Ypgs ~ 2/ Zpgs]  [2b] N1,[0,00 3832 40,32 4390 0333 0,333 69,70 -001 000 00D B =100 Y / Yogs = Z/ Zpgs]  [2b] (@)
W14(1,13 95,05 100,01108,300,313 0,339 100,00 -0,00 055 0,580 Cpp = [A°+B°]%° [3b] W14(1,13 90,12 94,81 102,920,313 0,339 97,96 -000 030 0,380 Cpp = [A°+B°]%° [3b] =)
714(0,18 17,10 17,99 19,49 0313 0,320 4948 001 009 0,082 has = atan [B/A] [4b] 71, (0,18 47,64 50,12 54,52 0313 0320 7614 -000 005 0,081 hag = atan [B/A] [4b] gE
AEK30-1N AEK30-2N AEK31-1N AEK31-2N
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Yl=ap0d

Ostwdatargb*, XYZ, and L*(Chyg, reflectionYn=0 & Ynn=2,52,Y\w=88,6, adaptatioiyys=88,6.
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